S/

- Eickakil

Products Contents Enn =| fi

AL~ ER

HAhx o S,

FIEE ARERX E4ZEExR o

BEHRTE

REEE - THhRHE
P ET BB IR

e AEERE:

HREETR

| SIA # 2L S 8 R | 212~0100
'SIC BRI B R EL | 212~0100

RELAE (mm) 12:16-20-25:32-40-50-63 80 100
ERREE BB B MRz R (FRIRIEHH /1SO-VG32)
T{EEEA (kgficni) 0.7~9.9
TERE (C) 0~+60
HERE (mm/sec) 50 ~ 750

EEAN

RIEERRREBRA

161



JFC
EXEVES

S| BRI | T

BArkg(2 )
i i 1E5) TAYEES (kgf/icm 2)
(mm) (mm) Fa 3 4 5 6 7 8
# 3 45 5 6.8 8 9
12 6
I 2 34 4 5.1 6 6.8
#E 6 8 10 12 14 16
16 8
il 4 6.8 7 10 10 13.7
# 9 13 16 19 22 25
20 10
I 7 9 12 14 16 19
i: 15 20 25 29 35 39
25 12
I 1 16 19 25 26 33
# 24 32 41 48 57 64
32 16
I 18 28 30 42 43 56
# 38 50 64 75 89 100
40 16
I 32 42 53 63 75 84
# 60 78 100 118 139 157
50 20
il 50 66 84 99 117 132
i 95 124 159 187 222 249
63 20
I 85 112 142 168 200 224
# 154 200 256 301 359 401
80 25
I 138 181 231 271 323 362
# 240 314 401 471 561 628
100 30
il 218 294 364 441 510 588
— b o
mELTELR
, o o L (mm)
REiELR AR BB
12 16 20 25 32 40 50 | 63 80 | 100
EFRIL SI-A 'l:ll o o/ 0o o 0o 0 0 o 0 o
e SI-B-BF 'ﬂ o o 0o 0| 0| 0|0 — | —| —
SI-B-BR ——| o o o | o 0o 0 o — | — | —
= L
LRl SI-C —H— o o o o o oo o 0 o0
= 3 =
BmEs=3«
BArg(A )
R 12 16 20 25 32 40 50 63 80 100
SD#E - {TIEST=0VE= 23 34 51 72 105 166 273 404 | 796 | 1448
TREEEMSmMmET - FHSINES 6 8 12 14 20 21 33 38 60 80

162



JFC S| BRI EET

\\hsiny

k3 SHZHE HE ok =H2HE HE
® IE=S 1 EERHE 1
@ B= 1 ® RUEH A 1
® il 1 AERE 1
@ DRSS 1 @) IR =08 1
® BRE 1 ®@ Iz R 1
® B/O 1 ® BH1E 1
@ DIWME 1 EERA 2

163



JFC S| BRI EET

SIA SERIE R L

RIEFHREEATHERE -
MFERAEME: (1) AF (2)4%F -
oER(1)AERBME (2)0 &/ i
e

RARGR2R RV EHE EREW
HMORGFEZERISEE -  ALES -

O EESERERE -

R miREITIE

KELATE(mm) T2 (mm)
1216 5101520 ~ 25 « 30
51015 20 ~ 25
2025 30~ 35~ 40 ~ 45 ~ 50
. 51015« 20 ~ 25 30
32~ 40 3540~ 4550 + 75 ~ 100
50 « 63 1015~ 20~ 25 « 30 ~ 35
80 ~ 100 40~ 45~ 50 ~ 75 ~ 100
— —
Fiansl B&RR
SIA HIN 4 120 H10STH L L Txn |
SE%5l || mEEE || mFe || w2k || e || 5 | | REET | | miseE || mEmEn @gggﬁa

l l l \ \

ZEAAREM |(INFR ZEAMRER | 12:12mm

l l l \

| [EARCT | PHSRIRER (20 maE |[zamuE
k- ELIE i i 92 e 7L, i (1B R)
Ej ( ) aa | [PF 1 [16:16mm % NNPTT g T:218H% - || JFS-07
] G:Em= B:@7LE 2020mm | | 3 : i fi:a%,‘s&%z;k /
Jo My ER o . P
g /gﬁ;ﬁﬁ 2525mm| | B G:GF KGTZENEEE | (3 A 18)
== 3232mm | | % EEH IK P:PNP
K 1.EETIE 40:40mm ;‘E EHE .
EEOC . EEEEK
ﬁI ~+60°C 50:50mm
2.MEFE 63:63mm N:NPN
IERE , EVCET ]
3#-10°C 80:80mm EE R E 2K
~+120°C 100:100mm
n:gyE
HERAEGHE
8,8 ATxn
REERR
4T 2 I} L
BAa, R
1% FE B

AzEm srEeEs  TEEMESES

164



JFC S| BRI EET

SMER R ~T E
oSIA EEIRIEL
o N®:012

o NE:016 ~ 820 ~ 25

Y S =E
Y | (BARRT) w3 (WARRT)
R 2-P1 \
| \
! o>
y 2-0
oD _ " - 3 _
(V2]
K1
— W
- F| N1 N2
(1+47%2
D A
o
o ME:032 - 940 -~ 950 - 63 - 80 - p100 o EXANFEBR~
D Al+1788
S R CT+771 B2 G
W F TN N2 |
I
N> 2-0
4 R /_
= N
an S e ant S|
|/ _ s > N s
®© S ==
K1 K2 /
A
A
Rt P (EFERT) (SAERT ) |5-p3
EC9% Al c1
~ v K1 K2 F B2 G T1 S = = = — N1 N2
ANEES RBfwE | R | RBTE | BT
12 6 | M3X0.5X%6 M5 X 0.8 3.5 10.5 3.5 22 275 20.5 315 17 28 7.5 5
16 8 | M4X0.7X %8 M6 X 1.0 3.5 12 3.5 28 29.5 22 34 18.5 30.5 10 5.5
20 10 | M5X0.8X%10 |M8X1.25 | 4.5 14 4.5 36 355 24 36 19.5 315 | 105 5.5
25 12 | M6X 1.0X3F12 |[M10X1.25| 5 17.5 5 40 40.5 27.5 37.5 225 325 11 5.5
32 16 | M8 X 1.25X7%13 |M14X 1.5 7 235 5 34 45 30 40 23 33 10.5 7.5
40 16 | M8X 1.25X3%13 | M14 X 1.5 7 235 5 40 52 36.5 46.5 29.5 395 11 8
50 20 | M10X 1.5X%15 [M18X 1.5 8 28.5 5 50 64 385 48.5 30.5 405 | 105 10.5
63 20 | M10X 1.5X%15 [M18X 1.5 8 28.5 5 60 77 44 54 36 46 15 10.5
80 25 | M16X 2.0X3%21 [M22X 1.5 10 355 8 77 98 53.5 63.5 435 53.5 16 12.5
100 30 | M20X 2.5X%27 [M26 X 1.5 12 355 8 94 117 65 75 53 63 23 13
X R o D u || R [ w v P3 P1
12 M5 X 0.8 33 14 - 5 8 M4 X 0.7X %7 @3.5:8FL - JI8EG6.5 XR3.5
16 M5 X 0.8 37 15 - 6 13.2 | M4X0.7X %7 @3.5:81, - JITE@6.5 XIF3.5
20 M5 X 0.8 47 18 - 8 13.6 | M6 X 1.0X %10 @558 FL - JLEE@9 X H7
25 M5 X 0.8 52 21 - 10 13.6 | M6 X 1.0X;%E10 @5.5581, - JIBR@9 X R7
32 1/8 495 - 45 14 14 M6 X 1.0X %10 @558 FL - JLEEO9 X F7
40 1/8 57 - 5 14 15 M6 X 1.0X %10 @5.558 4, - JIBR@9 X A7
50 1/4 71 - 7 17 19 M8 X 1.25X 514 @6.63BFL - JLEED11 X 58
63 1/4 84 = 7 17 19 M10 X 1.5X %18 @9iBF, - JLEED14 X 5105
80 3/8 104 - 6 22 25 M12 X1.75X7R22 | @113587L - JIEE@17.5 XiF13.5
100 3/8 123.5 = 6.5 27 25 M12 X1.75X7%22 | @11387L - JIFE@17.5 XiE13.5

165



JFC S| A FET
SIC 37 & i & 4T

IRIEFHREEATERE -
MFERAEME: (1) AF (2)49F -
oER (1) ARRBME (2)0 &/ i
e

RARGR2R - RIEHE EREW -
MORFEZRRISEE -  ALES -

O EESERERE -

pX o 1R 1T 12

FEIAE(mm) E#1TIZ(mm)
12 ~16 5+10~15+~20+25+~30

5+10+15+~20+25

20~25 30~ 35~ 40 45 ~ 50

5+-10~15+~20+25~30+356+

32~40 40~ 4550~ 60 ~ 70 ~ 75 » 100

50 ~ 63 10+15~20+~25~30+~35+40+
80 +100 45+~50~60+~70+~75+~100

BX i 5] 18 3R 7R

SIC | OIN 20 10STH i | Txn |
— — Pr E: ] o) oA 4R 4=10 > L 4y = @Eﬁﬁﬁ‘a
RIl%5| | |REEE FRR | | LRI A& 7% EEEIEST | | BhimiEREE | | EKIERERE gk
ZEERER | INNFR EEARER | 112:12mm s ZH:RcF PHS:MIRISE | |ZH:EBRE || ZO:ERE
- s i = e Y
Fad! G:HKER B:3 A K : R 2E AR T 2 7R
Z; * z B 20:20mm ’.5:.2 (AR /
= J:TidEh/ M ERER | |EX oD I B 25:25mm ?; G:GH KGT:ZEEHE | [P:PNP
L 32:32mm| | % R -
s |5, 2090 P 1B AR R 25K
R 'I,:iEf:Ef’E = -4Umm 2 N:NPN
il BEOC 50:50mm T
- i EELZE2K
2. WRHE 63:63mm nHE
T30 B0:80mm B RAGE
~+120°C 100:100mny $EATxn
R RTRR
L R B /K FE
gﬂﬁg,*m
_ N . - X FE R A
Az=om mrEeEs THBETEE

166



JFC S| SEAIFEL

oSIC EEiREl

4708 47K o
o AE:012 e NE:016 - 020 - 925
Y 3 TJ=K )
Y e (EARR (SBARRT) 4p3
| mE2-P1 \
] o
o
i wn > . - .
w : A / 1@
K1 ;
v i 2-0
N1
- N2
144718 F+f712
D A 2T
43K - 1
o MTE:032 - 940 -~ 50 ~ ¥63 ~ 80 - ¥100 o EXINFHRIRT
A+ 2178 AT+ 2478
D (47R Fui7iE F )
S R F 788
Fl N1 N2 B2 .G
SN
\ I
™ l:
N L \
) Flol = o Jand
) . s g > Il A _
= © \/
K1
W_} i—W K2
— i f /)
AP (BHART) (IFBRT ) \a-p3
R % K1 K2 F B2 | G | TI S A Al cl N1 0 D u
S ENGAN R EN G ARG R BN AL
12 6 | M3X0.5X3%E6 | M5X08 |35 [105 |35 |22 [275] 325 | 394 | 532 | 604 | 255 | 325 | 10 [M5Xx 08| 33 | 14
16 8 | M4X 0.7X%8 | M6X1.0 | 35 | 12 |35 | 28 [295 | 33 43 57 67 26 36 | 10 |M5X0.8| 37 | 15
20 10 | M5X 0.8X%10 | M8X 125 | 45 | 14 | 45 | 36 |355 | 35 47 63 75 26 38 |95 |M5X08| 47 | 18
25 12 | M6X 1.0X%12 [M10X1.25| 5 [175| 5 | 40 [405 | 39 49 74 84 29 39 | 11 | M5X08]| 52 | 21
32 16 M8 X 1.25X3%13| M14X15| 7 [235| 5 |34 | 45 | 545 | 545 | 975 | 975 | 405 | 405 [125 1/8 495 | -
40 16 |M8X 1.25X)%13| M14X15| 7 [235| 5 |40 | 52 64 64 107 | 107 50 50 | 14 1/8 57 | -
50 20 [M10 X 1.5XF15| M18X1.5| 8 [285| 5 |50 | 64 | 665 | 665 |117.5 1175 | 505 | 505 | 14 1/4 71 -
63 20 [M10 X 1.5X%15| M18X1.5| 8 |285| 5 |60 | 77 68 68 119 | 119 52 52 |15.5 1/4 84 | -
80 25 [M16 X 2.0XF21| M22X1.5| 10 |355 | 8 |77 | 98 81 81 148 | 148 61 61 18 3/8 104 | -
100 30 [M20 X 2.5X 27| M26X1.5 | 12 |355 | 8 |94 |117 | 945 | 945 |157.5 |157.5 | 705 | 705 | 22 3/8 1235 -
0%
i Y P3 P1
12 8 M4 X 0.7X 57 @358 F, - JIEED6.5 XIF3.5
16 13.2 | M4X 0.7X %7 @357, - JIEEG6.5 X R3.5
20 13.6 | M6X 1.0X;%10 @558 - JLEEE9 X &7
25 13.6 | M6X 1.0X %10 @5.5:8F, - JLEE@9 X &7
32 14 | M6X 1.0X ;%10 @558, - JIBE@9 X FR7
40 15 | M6X 1.0X %10 @555, - JIER@9 X K7
50 19 | M8 X 1.25X %14 | @6.6:BFL - JLEEO11 X &8
63 19 | MI0X 1.5X %18 | @93+, - JUEE@14 X &10.5
80 25 M12 X 1.75X %22 | @1138FL - JIE@17.5 XF13.5
100 25 | M12 X 1.75X7%22 | @11:8%L - JIBEG17.5 XiF13.5

167



